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Abstract. In this work conditions are specified at which average mass of non-trivial solution of Cauchy
problem for the stochastic porous media equation becomes infinitely large for finite time.
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Ω,�, P, {�t}t≥0

)
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du(t, x) = aΔuσ(t, x) dt + buβ(t, x) dt + cuγ(t, x) dw(t),

t ≥ 0, x ∈ R
n, u(0, x) = u0(x).
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�� ��	 1 ≤ β ≤ σ + 2/n  ��	
	��

∫
B u(t, x) dx�
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 ������ �������>�� 	���
�	�� G�# �������	
����&� ��� ���	# (c �= 0)  ������ AHB
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E

∫
Rn

u(t, x) dx ≤ KeKt, K = const,
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 T � R �
���� ���

lim
t↑T

E

∫
|x|≤R

u(t, x) dx = +∞.
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i=1
∂2

∂x2
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∂
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∂xn
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��� τN = inf {t ≥ 0: supx∈Rn |u(t, x)| ≥ N}� N ∈ N#

�����������	 ,���
�
�� ���)��� u(t, x) � 
�������
��� ��
���
)����� ����
�
���
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���#
�# 6�� � ��� 
�����
�
�� (�
�)�� g ∈ C ��� ���� t ≥ 0 � ������
���� � ���
�

��	���� �
��
����∫
u(t, x)g(x) dx −

∫
u0(x)g(x) dx

= c

∫ t

0

∫
uγ(s, x)g(x) dx dw(s) − a

∫ t

0

∫
∇uσ(s, x) · ∇g(x) dx ds

+ b

∫ t

0

∫
uβ(s, x)g(x) dx ds.
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"# -�� ���� N ∈ N � R > 0 �����
�
� 
��
��
���
%

E sup
0≤t≤τN

∫
|x|<R

u2(t, x) dx < +∞, E

∫ τN

0

∫
|x|<R

|∇uσ(s, x)|2 dx ds < +∞,

E

∫ τN

0

∫
|x|<R

uβ(s, x) dx ds < +∞, E

∫ τN

0

∫
|x|<R

u2γ(s, x) dx ds < +∞.
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�� a > 0� b > 0� γ > 0�
�� 0 <

∫
u0(x) dx < +∞�

�� (1− 2/n)+ < σ� max{1, σ} < β < σ + 2/n�

�	�
�� ���������� �	
	����
���� ���
� T � R ������ ��	

lim
t↑T

E

∫
|x|≤R

u(t, x) dx = +∞.
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���� �
�
����� ��
	����

�� a > 0� b > 0� γ > 0�
�� K0 <

∫
u0(x)dx < +∞� �
� K0 	���
�
����� ��������	� �����

�� β = σ + 2
n � σ > 0�

�	�
�� ���������� �	
	����
���� ���
� T � R ������ ��	

lim
t↑T

E

∫
|x|≤R

u(t, x) dx = +∞.
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���� �
�
����� ��
	����

�� a > 0� c > 0� b = 0�
�� 0 <

∫
u0(x) dx < +∞�

�� (1− 2/n)+ < σ� max{1, σ} < γ < σ + 2/n�

�	�
�� ���������� �	
	����
���� ���
� T � R ������ ��	 ��� 
� 	� m > 1

lim
t↑T

E

∫
|x|≤R

um(t, x) dx = +∞.

������� �� ����� ���	
���� �
�
����� ��
	����

�� a > 0� c > 0� b = 0�
�� K0 <

∫
u0(x) dx < +∞� �
� K0 	���
�
����� ��������	� ���� � �	�	�	�

����	 β !������� �� γ�
�� γ = σ + 2/n� σ > 0�

�	�
�� ���������� �	
	����
���� ���
� T � R ������ ��	 ��� 
� 	� m > 1

lim
t↑T

E

∫
|x|≤R

um(t, x)dx = +∞.
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����� �� ����� 0 < σ < β� 0 < δ < R� L =
∫ 1

−1
exp(−1/(1− y2)) dy�

"���#��

H(x, R) =

⎧⎪⎪⎨
⎪⎪⎩

1, |x| ≤ R− δ,
1
L
∫ 2

δ (R−|x|)−1

−1
exp

(
− 1

1−y2

)
dy, R− δ < |x| < R,

0, |x| ≥ R

	 
�
��� �
�
������ ��	$�������

�� 0 ≤ H(x, R) ≤ 1�
�� Hxi(x, R)

∣∣|x|=R = 0 � Hxi(x, R)
∣∣|x|=R−δ = 0 � i = 1, . . . , n�

�� %�
� δ = εR� ε ∈ (0; 1)� �	

∫
|x|≤R

( |ΔH(x, R)|β
Hσ(x, R)

) 1
β−σ

dx = H(ε)R
(n−2)β−nσ

β−σ ,
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H(ε) =
π

n
2 8

β
β−σ

ε
β+σ
β−σ

∫ 1

−1

(1− 0.5ε(r + 1))n−1

⎡
⎣ |r| βσ e

− β

σ(1−r2)

(1− r2)
2β
σ

∫ r

−1
e
− 1

1−y2 dy

⎤
⎦

σ
β−σ

dr > H(1) > 0.

������	�
��	
�� �������� � 	 
 ��
������������ ������� 	� �
�������	� �����		
H(x, R)� ������� �������� �� �� ���������

ΔH(x, R) =

⎧⎪⎨
⎪⎩

0, |x| /∈ (R− δ; R),

− 8
Lδ2

2R
δ (1− |x|R )−1�

1−( 2R
δ (1− |x|R )−1)2�2 exp

(
− 1

1−( 2R
δ (1− |x|R )−1)2

)
, |x| ∈ (R− δ; R),


������� 
���� 
������� � 
����� � �����	�����

∫
|x|≤R

( |ΔH(x, R)|β
Hσ(x, R)

) 1
β−σ

dx

= Kδ−
β+σ
β−σ Rn−1

∫ 1

−1

(
1− δ

2R
(r + 1)

)n−1
⎡
⎣ |r| βσ e

− β

σ(1−r2)

(1− r2)
2β
σ

∫ r

−1
e
− 1

1−y2 dy

⎤
⎦

σ
β−σ

dr.

!�� ���"���#��� �����	� ����� 	���# ���$������	 �	%# � ������ r = −1 	 r = 1�
!������& ��� � '�	� ������ ���$�������� ����

lim
r↓−1

e
− β

σ(1−r2)

(1− r2)
2β
σ

∫ r

−1 e
− 1

1−y2 dy
= lim

z→+∞
z

2β
σ e−

β
σ z

∫ −√1− 1
z

−1
e
− 1

1−y2 dy
= 0.

(��	� �$�����& � ����� r = −1 ���$������	 ����
)����"	���

lim
r↑1

e
− β

σ(1−r2)

(1− r2)2
= 0

	 � ����� r = 1 ����� ��� ���$������	�
*���	�& 	���"��� ������� 	 
�	 δ = εR& ε ∈ (0; 1) 
������� �������� �� +�"��

�	���& ��� H(1) ������� 	 
����	���#��� +���� ��������� �

,� ���������	
��� �����
 ���

,��� ���������	
��� �����
� �� -$�����	�

J(t, R) = E

∫
u(t, x)H(x, R) dx, I(t, R) = E

∫
uβ(t, x)H(x, R) dx.

�� ��������� .
/ 
�������

Jt(t, R) = a E

∫
uσ(t, x)ΔH(x, R)dx + bI(t, R),

t ≥ 0, J(0, R) =
∫

u0(x)H(x, R)dx.

.�/

-���	� ��	�� 
����� ���"����� � 
����� ����	 ��������� .�/ � 
���0#� �����������
12�#���� 	 �������� � 	� +��� ��

E

∫
uσ(t, x)ΔH(x, R) dx ≥ −H β−σ

β (ε)R
(n−2)β−nσ

β I
σ
β (t, R).

(�"��& 	� ��������� .�/ ������� �����������

Jt(t, R) ≥ I
σ
β (t, R)

[
−aH β−σ

β (ε)R
(n−2)β−nσ

β + bI
β−σ

β (t, R)
]
. .3/
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�� ��������	�� 
��
���� ������	

J(t, R) ≤ V β−1
β R

n(β−1)
β I

1
β (t, R)

�

I(t, R) ≥ V1−βRn(1−β)Jβ(t, R). ���

������ ��������	�� ��� ��������	 ���

Jt(t, R) ≥ R
(n−2)β−nσ

β I
σ
β (t, R)

[−K1 +K2R
nσ+2−nβJβ−σ(t, R)

]
, ���

���

t ≥ 0, K1 = aH β−σ
β (ε) > 0, K2 = bV (1−β)(β−σ)

β > 0.

�������� �	� �� ��	���	 	���� R0 > 0� �	� ��� R ≥ R0 �� ��������	�� ��� ������	
��������	��

Jt(t, R) ≥ K3R
n(1−β)Jβ(t, R), �!�

��� K3 = 1
2K2V

(1−β)σ
β > 0"

��� ��� J(t, R) ����	���� �� �#$���	 �� R � �� ������% & ������$ ' ����������$
��������	�� β > σ � nσ + 2 − nβ > 0� 	� �$������� Rnσ+2−nβJβ−σ(t, R) ��������(
����� ���	�	 ��� R → +∞" )$#���� R0 	����� �	�#$ �$��������
 ��������	��

−K1 +K2R
nσ+2−nβ
0 Jβ−σ(0, R0) ≥ 0.5K2R

nσ+2−nβ
0 Jβ−σ(0, R0) > 0.

����� R0 ��*��	�+ �������� ������% , ������$ '" ������ �� ��������	�� ��� �����
���������+ ��� ������	

Jt(0, R0) ≥ K3R
n(1−β)
0 Jβ(0, R0) > 0. �-�

��� ��� J(t, R) ������$��� �� t� 	� �� ��	���	 δ > 0 	����� �	�

−K1 +K2R
nσ+2−nβ
0 Jβ−σ(t, R0) ≥ 0.5K2R

nσ+2−nβ
0 Jβ−σ(t, R0) > 0 �.�

��� t ∈ [0; δ]" ��� ��� J(t, R) �� �#$���	 �� R� 	� ��������	�� �.� ����������� ���
R ≥ R0" ) ���� ��� � ��� �	�%�� ������	 ������������	
 ��������	��

Jt(t, R) ≥ K3R
n(1−β)Jβ(t, R), �'/�

��� t ∈ [0; δ] � R ≥ R0" �� �'/� �$	����	� �	� J(t, R0) ����	���� ������	��	 ��
t ∈ [0; δ] � J(δ, R0) > J(0, R0) > 0" ����	���� t = δ � �'/� ��������

Jt(δ, R0) ≥ K3R
n(1−β)
0 Jβ(δ, R0) > 0.

0	��	��� �	� � �����* ���	� 1	��� ��������	�� �	��	 	� �� ����	��	� K3� �	� � �
�����* ���	� ��������	�� �-�" ������ �� ��	���	 δ1 > 0 	����� �	� �.�� � �������(
	��
�� � �'/�� �$����+	�+ ��� ��� t ∈ [0; δ+δ1]" ������
�� ��������	�� ��� � �!� ��(
������	�$ �	����	��
�� ������� ����
 ��� ������� � J(δ, R0) > J(0, R0)� 	� δ1 ≥ δ"
2����	� ������������	
 ��������	�� �!� �������� ��� t ∈ [0; 2δ]" ���	��++ ��������(
�$� ����������+ ���3���� � �$����� �	� ��� R ≥ R0 �� ��������	�� ��� ������	
��������	�� �!�"
4������� �!� �� Jβ(t, R0) � �����	��������� �� t� ��������

J(t, R0) ≥
(
J1−β(0, R0)− (1− β)K3R

n(1−β)
0 t

) 1
1−β

+
.

0	�%�� ������	� �	�

lim
t↑T

J(t, R0) = +∞,
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 ����� �	�	��
 ���

���

T =
R

n(β−1)
0

(β − 1)K3
J1−β(0, R0) < +∞.
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�� ������������� ����������� ��� ��
����������� ������� 	
 �������� ��������
����� � ��
����������� ������� 	  ��� ����������� !"#
 ��
 
�
� �������� ������� $
������� � β = σ + 2

n � �� ����������� !"# ��������� ���

Jt(t, R) ≥ R
(n−2)β−nσ

β I
σ
β (t, R)

[−K1(ε) +K2J
β−σ(t, R)

]
, t ≥ 0. !		#

%�������� ��� 
�������� K1 ������� �� ε ��
 
�
 ����&����� ����� H(ε)

��
�&��� ��� ���� ��������� ������� � ������� �� �� ��'������� ε ∈ (0; 1)�

ε′ ∈ (0; 1) � R0 > 0 ��
��� ��� ��� R ≥ R0 ���������� �����������

−K1(ε) +K2J
β−σ(0, R) ≥ ε′K2J

β−σ(0, R). !	�#

%���������� !	�# ����������� �����������

J(0, R) ≥
( K1(ε)

(1− ε′)K2

) 1
β−σ

.

(��
)�� Jβ−σ(0, R) ��������� ��� ����� �� R �

lim
R→+∞

J(0, R) =
∫

u0(x) dx ∈ (0; +∞).

����� ����� K1(ε) > K1(1)� K1(ε)
(1−ε′)K2

> K1(1)
K2

> 0 �

lim
ε→1,ε′→0

K1(ε)
(1− ε′)K2

=
K1(1)
K2

.

*�������� 
�������� K0 ����������

K0 =
(K1(1)
K2

) 1
β−σ

. !	$#

+������� ������� � ������� �
∫

u0(x) dx > K0
 ,������ ��'������� ε ∈ (0; 1)�
ε′ ∈ (0; 1) � R0 > 0 ��
��� ��� ����������� !	�# ���������� ��� R ≥ R0
 �����
�� !	�# � !		# ������� �����������

Jt(0, R) ≥ ε′K2R
(n−2)β−nσ

β

0 I
σ
β (0, R0)Jβ−σ(0, R0) > 0

�� 
������� � ����'�� !�# ��������

Jt(0, R0) ≥ K4R
n(1−β)
0 Jβ(0, R0),

��� K4 - ��
������ ����&�������� 
��������
 .�� ����������� ���������� ��������
���� !/#
 0������� �����&������ ����������� � ��
����������� ������� 	� �������
� ����������� !/#� ������� �����&����� ������� �
 ������� � ��
�����
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���� ���������	
��� �����
 � � �� � ����	
	���
 ���	 
������	������
 �	��
�	� � � � ���	���	���� ���� ������ ������	 b > 0� �����
�� !���� ������� ���
��"����� ���"	��	 �	���	����� #$% � #&%� � ������ 
 �	��	� � � ' b = 0� (���)	�*
"�� �	)�� � �+����	��	� �������	� � ��� ������	��� ������, �	��	� � � '�

-���)	� .	��	�� �� /+����"�� ξ(t) = e−t/2+w(t)� (��0	�� ξ(t)  �� 	�� �	�	��	�
���
����"	����� �����	�� 

ξ(t) = 1 +
∫ t

0

ξ(s) dw(s).

1���	 ����* E ξ(t) = 1* E ξl(t) = el(l−1)t/2* l ≥ 0� (���	��� 2������ 3�� � ���0	���
u(t, x)H(x, R)ξ(t) � ������	��������* ����"�	�

∫
u(t, x)H(x, R) dxξ(t) =

∫
u0(x)H(x, R) dx + a

∫ t

0

∫
uσ(s, x)ΔH(x, R) dxξ(s) ds

+ c

∫ t

0

∫
uγ(s, x)H(x, R) dxξ(s) ds

+ c

∫ t

0

∫
uγ(s, x)H(x, R) dxξ(s) dw(s)

+
∫ t

0

∫
u(s, x)H(x, R) dxξ(s) dw(s).

4������� 5'* 6��	"���	 ���* �� �$�7 ���
����"	���	 ���	����� � !��� ���	����	 ���	�

	�	�� � �
 ���	����"	���	 �)�
��� ����� ����� 6��"��* �����	
���� ���	�����

Jt(t, R) = a E

(∫
uσ(t, x)ΔH(x, R) dxξ(t)

)
+ cI(t, R), #�'%

�
	 J(t, R) = E
(∫

u(t, x)H(x, R) dxξ(t)
)
* I(t, R) = E

(∫
uγ(t, x)H(x, R) dxξ(t)

)
�

1�� � ��� 
������	�����	 �	��	�� � � ������� �	��� � ����"�	� �0	���

E

(∫
uσ(t, x)ΔH(x, R) dxξ(t)

)
≥ −H γ−σ

γ (ε)R
(n−2)γ−nσ

γ I
σ
γ (t, R).

.��
�* �� #�'% ��	
�	�

Jt(t, R) ≥ I
σ
γ (t, R)

[
−aH γ−σ

γ (ε)R
(n−2)γ−nσ

γ + cI
γ−σ

γ (t, R)
]
, #��%

������	 �����
�	� � �	���	������ #'%* 	��� � #'% ���	���� β �� γ � b �� c� (�������
��* � �	��	�	 � �� γ ����)	�� ����	 )	 ������"	�� * ��� �� β � �	��	�	 �* �� �
�	���	����� #��% ����	���� �	 )	 �����)
	�� * ������	 +��� ����	
	�� � 
������
�	�����	 �	��	�� �* ��"��� � �	���	����� #'%� (������� !�� �����)
	�� ����"�	�
�	���	�����

E

(∫
u(t, x)H(x, R0) dxξ(t)

)
≥

(
J1−γ(0, R0)− (γ − 1)KR

n(1−γ)
0 t

) 1
1−γ

+
.

/���
� ��	
�	�* "��

lim
t↑T

E

(∫
u(t, x)H(x, R0) dxξ(t)

)
= +∞, #�$%

�
	

T =
R

n(γ−1)
0 J1−γ(0, R0)

K(γ − 1)
∈ (0; +∞).
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���� �� ���
� m > 1� �
�	�� �
�����
 ��������
��
����	��� ��� t ∈ [0; T ) ������	���
 ��������
�


E

(∫
u(t, x)H(x, R0) dxξ(t)

)
≤ V m−1

m R
n(m−1)

m
0 e

1
2(m−1) T

(
E

∫
um(t, x)H(x, R0) dx

) 1
m

.

��� �
�����
 ����� ����� ���
�  

�
 ��������
�� ��
���������
 ���
�
 ��� t ↑ T �
�����


lim
t↑T

E

∫
um(t, x)H(x, R0) dx = +∞, ∀m > 1.
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���
#��
 ���� 	�� �
���1���� ������/� 6��� c < 0� 

� ���	�
���� c = −|c| �
������� �����
����/ ��
4��� w(t) �� �
��/ �����
����/ ��
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